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Question’ No. 1 is Multiple choice type.
Answer any 3 parts out of S parts. Each
part is of 2 marks. 2 x 3 = 6 Marks
Question No. 2 is Very Short Answer type. .
Answer any 2 parts out of 5 parts. Each
part is of 2 marks. 2 x 2 = 4 Marks
Question No. 3 and Question No. 4 are
Short Answer-1 type. Answer any 2 parts

from Question No. 3 and answer any
2 parts from Question No. 4. Each part is

of 4 marks. ‘ 4 x 4 = 16 Marks
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4, Question No. 5 and Question No. 6 are
Short Answer-II type. Answer any 3 parts
from Question No. 5 and answer any
3 parts from Question No. 6. Each part is

of 10 marks. _
Question Nos. 7, 8 and 9 are Long

o

10 x 6 = 60 Marks

Answer type. Answer any one question
from these. Each question is of 14 marks.
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g T%Tg' W@l ‘y=x+1.,'5|$

y? =4x ® W @ ?

) (1,2) i) (2,1)

i) (1,-2) iv) (-1,2).

The degree of differential équation

[d—g—y—]a + [dyT + sin(d—y} 4.».1= 0
dx2 dx ) - dx

is . |

i) 3 i1} | 2

) 1 V). not defined.

tan™! ﬁ—.sec'l (~2) is equal to ‘

) = 1] JR——
3
i) iv) 20
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Integral _!- - x_ is equal to
i) —3 ii) %E
. i) -g- iv) T%

Suppose  that the function

f: R > R is defined by f(x)=3x.

Then
i)  f'is one-one onto

i) . f is many-one onto

i) fis one-one but not onto

iv) fis neither one-one nor onto.

'~ On which point the line y=x+1 is

tangent to the curve y2 =4x?
) (1,2) i) (2,1)
i) (1,-2) iv) (-1, 2).
fag #ATsm B e (1,2, 39
Rr{u}u,(z,zns 31‘
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- A A A s
RN a=i-2j+3k R
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Prove that in set { 1, 2, 3 }, the
relation given by
R={(1,1),(22),(33),

o (1,2),(2,3))
is reflexive, but neither symmetric

" nor transitive.

KII-6660

2
sec? x
——— dx

CGSELQX

Find.the value of

From equation \

x+y 2 6 2
[ 5+z2 xy] [5 8] find the

values of x, y and z.

If 2P(A)=P(B) = ﬁ and P(A/B)=
then find the value of P(AU B).
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Find the angle between the vectors
¥ L M et
a =1 -2f+3k and

E Fal Fal A
b=31i-2j+k.

A - T - . .
75 sin™ x + tan” x =5, A WG

&g fF 2x2 +1=4/5.

3T & 39 UNaR & o G
T Fife e Tfr 3w W
% T g W E

A |a|#0,]b |20 T

- - - = ‘- ~ !
la+b|=|a-b|d KEry fF aw

K 2
a ¥R b TER T FI

ﬁ@@qfﬁﬁgﬁ_m,?,shgg,s,z}] |
9 gat S et dar, fagar

(-1,-2,1) 3R (1,2, 5)9 W
T A T % GHRR R

1 |

If sin™" x + tan™

X =~g-, then prove

'Lhat '.ZJC:E +1=J§.

Find the differential equation of
that family of ellipse whose focus
15 on the x-axis and centre is at
the origin.
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ifa)#0,|b]#0and
|;+‘£| ~ IE,EL then show that

the
perpﬂﬂdiCU1ar'

Show - that the line passing
through the points ( 4, 7, 8,
(2, 3, 4 ) is parallel to the line
passing through the  points
(-1,-2,1)and (1,2, 5). |
sin x %7 log x % W&l e 0T
Sinicaiiel

wiw 1§ 11 76 H &8 P
Al g IR ¢ | g T A FA
al wfgewar wa @i & = g

- Te@R o W f(x) = x2 +3x+5,

x=1 T Had g '

Fe et

xX+y<4:

x=0

y=0 & 3FTE

Z=3x+4y W afuegqy HeE ¥
FITAU |
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Find the differential cocfficient of
sin ¥ w.r.t log x .

From integers 1 to 11, two integers
are selected at random. If their

sum 1s even, then find the-

probability that both the integers
are odd.

Show that the function

flx)= x? + 3x+5, is continuous

at x= 1.

Under the followmg constraints
x+y =<4
x20

y=z0

find ~ the
Z=3x+4y.
HA T BT e

flx) = 2x3 —Sx% - 36x+7

T vEd B £ (i) SR (ii) T E 1

maximum - value of

l+a 1 1 . 1" 1 1
1 1+b 1 =abc(l+—+-5+g
1 1 l+c a i

T aitaw feh
a8 a3t
Sl !? 4+ <111 \) = Lall ‘30
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- Find the interval in which the.

function f(x] 2x3 - 3x2 - 36x+7
is - '
(i) increasing (i) decreasing.
Prove that
1l+a 1 1 1
I 1+b 1 =_ab¢[1+_ 1.1
1 1 1+¢ a * b + c
Prove that
=1 8 13

sin™' — 9 _ -

15 +sin = =tan 1 %%

xg +1

Find the .
value ofI dx .

2
X" —38x+6
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In a bag A there are 4 red and
S black balls. In another bag B
there are 6 red and 3 black balls.
One ball is taken out from A and
transferred in bag B. After this one
ball is drawn from bag B. Find the
probability of that to be red.

Find the equations of the tangents
to the curve y=cos(x +y),

- 2n £ x <2n which are parallel to
the line x + 2y = 0.

FH x% =4y I TS TG
x=4y -2 ¥ a0 O 1 e
T T

soEm faft g A syl &

Eais |

x +2y=>10

3x +4y=< 24

x 2 0,y= 0 |

UE Z =200x+ 500y I RATH TH
1A ifsTU | -

[111n1(nww
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M) sl JHIRT Ax + 2y =sin x &

e & T i |

¥) alg A @ B Wad "N € ot fog
g & A @1 B/ ot W mend
g |

T) g r. (14 +k) =6 3R
- A A A .
T (2i43j+4k )-5=0 %
T @R g (2,2, 1)@
AT THAA T W TR

shifa |

R o R
R={(a,ble Z2xZ : (a-b), 57
ERLEER IR L ety a—"
R U% ol @iy & 5

6. 4  Find the area of the section
enclosed between the curve

- .
X" =4y and straight line
x=4y -2 .
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Solve the following linear
Programining prol

method  under  the following
constraints :
x +2y =10
3x +4y < _24'
x 20,y=z 0
of

Find the minimum value
Z = 200x + 500y . |
Find the general solution of the
differential equation

d )

a—i +2y =smx. |

Prove that if A -and B are
independent events then A & B’
are also independent events.

Find the vector equation of a_
plane, passing through the
intersection of the planes

— A A )
r.(i+j+k)=06 and

- A A n
r.[2i+3j+4k]—5=0 and the

point (2, 2, 1)

If in the set of integers Z,
R={(a,ble ZxZ: (a-b) is
divisible by 5 ! be a given relation, |
then is R an equivalence relation ?

| Turn over
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X+y+z=6
X-y+z=2
2x+y-z=1
Ht 3= fafu @ ee ST
N - = - e
@) i) ﬁ?a,bﬂzﬁqﬁﬁﬂﬂmmgﬁ
. - — .
 wEREfa+b+c=0,7
fag wifse
R T I T S
axb=bxc=cxa.

i) k F AN §W awg A i
(k,0),(4,0)3R (0,2)7
C L P w4 W b
7. a) snlve' ‘the following system of the
- ‘equations by matrix method :
x+y+z=6"
x-y+.z=2
2x+y-z=1

by matrix method.
: - - > 2
b) i Ifa, b, c are three vector

quantities, such that

— - —»

a + b + ¢ =0, then prove

- . —h —

thataxb=bxc=cxa
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l"i.mi the value of k, if area of
rangle with vertex ( kK 0),

(4, 0)and (0,2)is 4 square
unit.

n/2 . 2
I SIn® x
5 Sin x + cos

HifeTy |

g #ifve & 59 % e mem
&% AT A T A |

Find the value of

i)

xdx ! 919 9

x/2 <
I sin? x
% Sin x +Cos x

Prove that the rectangle of
maximum area inside a circle is
square. :

fearsu & sEwe aieom
(x—y)g%=x+2y HfWTFﬁZI HIhet

AHIFIV] € TYT TR & o TG Fieg

)y AR am x4y =23

AV -8 W @ HI GAGr 8
d femign T gwar  wnieqy

: ) £y
YCOSO-XSINQ-acos2¢ &l
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e HIfAT |

Show that the differential equation
(x - y)%y_'.—. x + 2y is homogeneous
. _ :

differential equation, and find also

its solution. - |

) If normal ‘to the curve
x2/3y y*/*=a?/3 makes an
angle ¢, with the axis of x,
then show that its equation is
ycosg-xsing=acos2p.

e B b dy
1 If -5 sin x’ th P
) y=x en find =
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